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a1 et frerdt woiem & ues fgamurlt fiyo & anofée arafiaar gl
The relative volatility of a binary mixture in an azeotropic composition is.......

(A) 1
(B) H/Zero

(C) Faal/Infinity
(D) 1 ¥ FH/less than 1

Ans  of 1A
X 2.8
5 3.c
X 4D

Question ID : 349953812
Status : Answered
Chosen Option : 1

Q2 2 Ryae! ) U Wy o RbaT T € 1| b Weie) < o ) iftvpan et 2
Two coins are simultaneously tossed. What is the probability that two heads are
simultaneously appearing?

(A) /8
(B) 1/6
(C) 1/4
(D) 112
Ans X" 1A
X 2.8
W 3c
X 4D

Question ID : 349953835
Status : Answered
Chosen Option : 3
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@3 Freriaron gy wR Ry e R 1 e gl

Purpose of fins provided on heat transfer surface 1s

(A)FEIRYT &5 1 &g/ To increase the heat transfer area

(B) SSHIcRUI UM% & §@1/To increase the heat transfer coefficient
(C) Tifies | Wi S99/ To achieve mechanical strength
(D)HTQ‘WI‘HTH?{ dgMIl/To increase the temperature gradient

Ans {1.A
X 2.8
X 3c
X 4D

Question ID : 349953876
Status : Answered
Chosen Option : 1

Q4 a1 4R F il S e H125% 3 Uil & e T8 §U wiiddeta 81 Jum Gy
T fpa 82

A spongy material having a weight of 2 kg, floats in water with 25% of its volume
inside water. What is its specific gravity?

(A) 0.75
(B) 0.5
(C)0.4
(D) 0.25

Ans "1 A

X 2B
X 3.c
o 4D

Question ID : 349953857
Status : Answered
Chosen Option : 2
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Q.5

(A) mETEl gR&ea/Avogadro hypothesis
(B) S 4ITH W4Td/Joule Thomson Effect
(C) UTedd fAaH/Pascal’s Law

(D) ferE® Ags/Kirchoff's Law

Ans X' 1A

v 28

X 3.c

X 4D

Question ID : 349953818
Status : Answered
Chosen Option : 2

Q.6

Ans

Frofefan Sl # 3 fHus g Wer e # dersaea g

Fibrous material can be broken by which of the following equipments?

(A) TRl eRy/Squirrel cage crusher
(B) &t I B/ Two roll mill

(C) @ i@/ Tube mill

(D) @t fAre/ball mill

v A
X 2.8
X 3.cC
F )

Question ID : 349953855
Status : Answered
Chosen Option: 1
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a7 forelt ot & wurltgra 9 fredt T T OR &1 A fovar San g1

The localised velocity of a fluid along a streamline can be measured by ...........
(A) e e/ Pitot tube
(B) 38 ardl/Ventury meter
(C) errdt/Rotameter
(D) ¥ AdY/Orifice meter

Ans  of 1 A
X 2.8
X 3.cC
5 4D

Question ID : 349953822
Status : Answered
Chosen Option: 1

g i @ |G T Al 82
Which one is called a Sailor’s Soap?
(A) Tifegm siferme/Sodium Oleate
(B) Tiefdrmd siifeige/Potassium oleate
(C) Hifgum ar3fta Wethe/Sodium lauryl sulphate
(D) Sfeqan aferme/Caleium Oleate.

Ans X1 A
W 28
X 3.cC
X 4D

Question ID : 349953820
Status : Answered
Chosen Option: 1
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A manometer 1s used to measure........

(A) $ad @ & 3Ha¥/pressure difference only
(B) Fad R3¢ Td/absolute pressure only

(C) (A) @Yl (B)aHl/both (A) and (B)

(D) Te 37 YT &T6/fluid velocity and pressure.

Ans x 1.A

X 2.8

W 3c

X 4D

Question ID : 349953839
Status : Answered
Chosen Option : 1

Q

.10
TIHF B §57d & SR fhE 5 BTl
Viscosity of a liquid................... with increase in temperature.

(A) Hedt 8/decreases

(B) @gdl 8/increases

(C) 3mwifda @<t 8/remains unaffected
(D) =74 § B3 T81/None of the above

Ans J1.A
X 2.8
X 3cC
X 4D

Question ID : 349953840
Status : Answered
Chosen Option: 1
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Q.11

Ans

A

0
9
3

_—
- Lh

Rank of the Matrix A -3 e

(A) 0
(B) 1
(©) 2
(D) 3
1A
X 2.8
e
X 4D

Question ID : 349953836
Status : Answered
Chosen Option: 4

Q.12

Ans

IH IoRS 1 AW Fart o gErad @it it gan | fureaa & ufa Sust 3= uforan
& SR H,S0,fF w00 & R g1 S 21

Name the catalyst which is chosen for H,S0, manufacturing mainly due its superior
immunity to poisoning compared to Platinum,

(A) TiO2

(B) V20s

(C) FFa/Nickel
(D) CuO

X 1A

W 28

X 3.cC

X 4D

Question ID : 349953849
Status : Answered
Chosen Option : 2
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Q.13

____________________________ g Hale® &, O UeRE Uerd Hulasd & foru 3Rm T 2l

A conveyer not suitable for transportation of abrasive material is

(A) o€ Hagd/belt conveyer
(B) TUA ¥aTgd/apron conveyer
(C) %@l "arg®d/chain conveyer
(D) 8 Has®/flight conveyer
Ans 1A

X 2.8

X 3.c

o 4D

Question ID : 349953852
Status : Answered
Chosen Option : 2

M Crufifen & P W T BT g @ A R

Which among the following can be the unit of Flux?
(A) kg*m™*s!
(B) kg*m™s
(C) kg*m*s’
(D) ke*m2*s!
Ans 1A
X 2.8
X 3cC
W 4D

Question ID : 349953866
Status : Answered
Chosen Option: 4
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O et A TR ¥ AR-UR A BTIEE o &1 UF ISR 2

The flow of air across a heated radiator is an example for

(A) Wﬂﬁ'ﬂ'#ﬂ?‘?ﬁnmed convection
(B) Wiblde Hag/Natural convection
(C) fafevuyRadiation
(D) =ef/Conduction

Ans 1A
W 28
X 3.cC
X 4D
Question ID : 349953889
Status : Answered
Chosen Option : 1
16 Fpafen A E A U F TS IAE T o 2
The evaporator working with steam in the tube is a ------——-—-—- -
(A) Y et Seafer AfE€E/Short tube vertical evaporator
(B) oM 7l FeafeR T:ITﬁH;Lnng tube vertical evaporator
(C) e 15y dIfEE/Basket type evaporator
(D) &ferst =7eft arfers/Horizontal tube evaporator
Ans x 1A
X 2.8
X 3c

W 4D

Question ID : 349953880
Status : Answered
Chosen Option : 4
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@V firror & forg 5l o1 (@) wepm  HoHS T S 3R CO-H3 T o] & U6 U 42
I SUCO-3 Y A ST S & | TS Ianfed 10 T 3] 39 U $I I ofrd § ol 39
Jarg HH,®1 ufawd fa 82
In a batch process for mixing, 5 moles of H2 and 3 moles of CO: entered a vessel with
42 moles of CO.. If 10 moles of product leaves the vessel, what is the percentage of
H: in the product?

(A) 80 %
(B) 50%
(©) 30%
(D) 10%
Ans x 1.A
75 2.8
X 3cC
W 4D

Question ID : 349953831

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q18 1> Gt o HCIET FRR@TR Bsr 108.5 °C W Iaodl g ot U8 e

If the azeotropic mixture of Water and HCI boils at 108.5 °C, this solution
T Ry

(A) 3mee/ideal
(B) &Mt faae & Y 3 g=/non ideal with positive deviation
(C) HUTerss fdga & |y 3mg=/non ideal with negative deviation
(D) gater & fsar o ¥&dl/cannot be predicted
Ans X' 1A
5 2.8
e
X 4D

Question ID : 349953837
Status : Answered
Chosen Option: 3
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O e PN T RE PR E

Which of the following is a coarse crusher?
(A) f&= #ER/Disc crusher
(B) Yi$&Ul HER/Conical crusher
(C) @ HIY/Roll crusher
(D) 8 #E/Jaw crusher

Ans X1 A
X 2.8
X 3.c
W 4D

Question ID : 349953848
Status : Answered
Chosen Option : 4

020 A RO TP R F1 i gy fsan o 81

Industrial separation of . is done by a gaseous
diffusion process

(A) @G ASEIor auT iafte/Nitrogen and Oxygen from air
(B) Wm & g /Isotopes of Uranium
(C)  TISIeH au SIEifam/Hydrogen and Deuterium
(D) HEBR BTE ATFES quT arg/Sulphur dioxide and air
Ans X 1.A
v 28
X 3.cC
X 4D

Question ID : 349953813
Status : Answered
Chosen Option: 4
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V2 e uE @ P g Prafifld gl 3 2 e SugE gl

To remove the finest dust, which of the following devices suits the most........
(A) Teardt gufda/cyclone separator
(B) & fFeee/bag filter

(C) Frdggd gufdz/electro static separator
(D) & feet/drum filter

Ans X' 1A
X 2.8
W 3c
X 4D

Question ID : 349953863

Status : Answered

Chosen Option : 3

Q22 Goeh omerht 3 o amn B gER 9 A 5 R aEn 31 T Ugd w2 A S aEn 3 vial
T ofte o R 92 # I g e @ 1/5 9i few oY arn @ det § g
fFaft gram
A man travelled 5 km in the second hour of his trip. This was %™ more than he
traveled in the first hour. In the third hour he travelled 1/5 ™ more than he did in the
second. How far did he travel in three hours?

(A) 6 &F A km
(B) 13.8 {5 #ft km
(C) 20 f& 2t km
(D) 15 f& 1t /km

Ans ?‘:TA
X 2.8
X 3.cC
W 40D

Question ID : 349953824

Status : Answered

Chosen Option : 4
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Tubeless tyres can be made from,
(A) faelT @8/ viton rubber
(B) sgfed ¥@8/Butyl rubber
(C) fufers= T@8/Silicone rubber
(D) 7TEgISd Y&/ Nitrile rubber

Ans X1 A
W 28
X 3.cC
X 4D

Question ID : 349953846
Status : Answered
Chosen Option : 2

Q24 Fuy Rfge oEl # TepaHE §RI S5O B gHare WiaRY BT Bae
&R e o 81
The resistance to heat transfer caused by scale formation in heat exchanger tubes is
accounted by

(A) 9Rgy Turek/Fouling factor
(B) U7 T[U&/Friction factor
(C) H&HH qUTE/Drag coefficient
(D) TfEte ®¥/Boundary layer
Ans  of 1 A

X 2.8

X 3.c

X 4D

Question ID : 349953887
Status : Answered
Chosen Option: 1
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025 2 Prsaeor & vy e Haroe @ T e 9 @ A, S

The solvent used in liquid extraction should not have high latent heat of vaporisation,

(A) T T 91 § 3R gaie ot &t anra aga o grft
the pressure drop and hence the pumping cost will be very high
(B) 3Ta GRT 3 AW 8] fdsan & |ahdl/it cannot be recovered by distillation
(C) STHE gRI 39! [t & anTa SRt 3R rafis
its recovery cost by distillation may be uneconomically high
(D) 3Ta gR1 GA-9T Hd §09 98 uufed g smam

it will decompose while recovering by distillation

Ans X' 1.A

5 2.8

e

X 4D

Question ID : 349953828
Status : Answered
Chosen Option: 3

Q.26 frdlt urgu & TS AWR & SR avd vae ST e g e SET R

The loss of head for fluid flow due to sudden expansion of a pipe is given by

(A) hy = (V% V) 2g
(B) he=(Vi*- V2%l g
(C) hu=(Vi- V2)' / 2g
(D) Iudea & A @ ot Té/none of the above
Ans 1A
X 2B

W sc
X 4D

Question ID : 349953850
Status : Answered
Chosen Option: 3
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V27 e At & e, Froa o R, 78 2 R

With increase in temperature, at fixed pressure, the solubility of gases in liquids ......
(A) ¥gat B/increases

(B) Tedt 8/decreases

(C) smfafda &t 8/remains the same

(D) WUl & 3R A 1 B/A or B depending on the system

Ans X' 1A
W 28
X 3¢
X 4D

Question ID : 349953815
Status : Answered
Chosen Option : 2

Q.28

CRGRERCR AT
A fluid is a substance that _.._...........
(A) uné =0 faﬁ’r &1 ufaiy S3ar %‘fpemanently resists distortion
(B) ®irs fagfa &1 ufodty 7€l &3t 8/does not resist permanent distortion
(C) P v TEdl & ol a0HH & Y T8 Sgadl
has a definite density that does not change with temperature
(D) T v & foraet §de mmo= 78t faar o a@ar
has a viscosity that cannot be accurately measured
Ans x 1.A
W 28
X 3.cC
X 4D

Question ID : 349953838
Status : Answered
Chosen Option : 2
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Q.29

Ans

St R 90 R 7@ ¥ Jad 4 ursud Suet das & FRUN0 IR &1 U 8T & | W

ot e fra erfle

A pipe with a pressure of 90 bar at the inlet suffers a drop of 10 bar over its length.

What is the efficiency of transmission?

(A) 33.3%

(B) 66.6%
(C) 77.7%
(D) 88.8%

X 1A

/X 2.8

X 3c

o 4D

Question ID : 349953854

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.30

Ans

(A) iy fafehe/Caleium Silicate
(B) wifsam fferre/Sodium silicate
(C)fufere Brafgs/Silicone Carbide
(D) e SEfgs/Caleium Carbide

1A
X 2.8
Wac
X 4D

Question ID : 349953819
Status : Answered
Chosen Option : 4
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Q.31 §g AUHE YU H180 °C 9T 30 °C & €9 99U @ 911 & 9 9 100 mm ARE &
e g & g8 3 mltﬁng?m&m-mfm W1 S FaTfed gial ¢ af 99 uard #1 Sey
| - 7 | OO I

Calculate the thermal conductivity of the insulation material of thickness 100 mm , if

90 W of heat flows across 3 m?® of its surface when the temperature gradient is
maintained between 80 °C and 30 °C.

(A) 0.5 W/(m.°C)
(B) 1 W/(m.°C)
(C) 0.06 W/ (m.°C)
(D) 0.02 W/ (m.°C)
Ans X' 1A
/X 2.8
W sc
X 4D

Question ID : 349953886

Status : Answered

Chosen Option : 3

Q32 et Rimer HCO, a1 Ho0.31 Sl Wit €1 39 Saie # 40% CO-, 30% H20 @41 30%
H:2COs8 | CO® WHI0 &3 Gl JTE! 1 &3 & ald ol S[aTd o g
A reactor supplied with CO:z and HxO, the product contains 40% COz, 30% H20 and
30% H2COs, what is the ratio of feed rate of COz and rate of products?

(A) 0.4
(B) 0.8
(€) 0.7
(D) 0.3
Ans X' 1A
5 2.8
W sc
F )

Question ID : 349953832

Not Attempted and

Status : Marked For Review

Chosen Option : --
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Q33 4 gy ¥ mem A valRd @ @ 5 awa F omR ¥ Yol SUWE B SR

SRBW ..o FRIEa g
In case of a liquid flowing through a pipe, heat transfer in the laminar sub-layer is
mostly by

(A) wuitfea Hag-/Forced convection

(B) Wigfae Hag-/Natural convection
(C) Ie1/Conduction

(D) HaR/Eddies
Ans x 1.A
X 2.8
Wac
X 4D

Question ID : 349953875
Status : Answered
Chosen Option : 3

Q34 ot faer @ R AF0.3 T MU, BH0.2 T 0] 3R CH0.591 0] FOfed §) &9
forsor & AsT Hta-si fean grm?

A solution contains 0.3 moles of solute A, 0.2 moles of B and 0.5 moles of C. What
will be the mole fraction of A in the mixture?

(A) 0.3
(B) 0.2
(C) 0.5
(D)1
Ans  of 1 A
X 2.8
X 3.cC
X 4D

Question ID : 349953865
Status : Answered
Chosen Option: 1
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O3 Prpfafen ¥ § 5 W 53 g A w1 3 W Baw A ke da i
Which of the following liquid pairs deviate from Raoult’s law positively?

(A) §E-HCl/Water- HCI
(B) dsit-HUATd/Benzene — Methanol
(C) THE-eI®iH/ Acetone- Chloroform
(D) Sd-HNO3/Water- HNO3
Ans x 1A
W 28
X 3c
X 4D

Question ID : 349953825
Status : Answered
Chosen Option: 3

Q36 qrmre & &= 10 °C g F W TS qEERS il @ g A 21 v g
sififehar &1 aTaE™ 30 °C R/ 60 °C 7% dear g o8 sffpm Bt e ... TEat el
For every 10 °C rise in temperature, the rate of a chemical reaction doubles. When the
temperature of a reaction is increased from 30 °C to 60 °C, the rate of a reaction

(A) 4 Ti/times
(B) 8 TFI/times
(C) 6 THI/times
(D) 12 TAT/times
Ans X' 1A
v 28
X 3.cC
F )

Question ID : 349953821
Status : Answered
Chosen Option : 2

@Teacningninia.in




Q.37

0.6% et faeae T, & WY AR |

A 0.6% Urea solution would be isotonic with......

(A) 0.05 M NaClf@@@/solution

(B) 0.6% Na C1 fa@@=/solution

(C) 0.6% @1 fade/glucose solution
(D) 0.10 M &4 @@ /glucose solution

Ans  of 1 A
X 2.8
X 3.cC
X 4D
Question ID : 349953827
SHaUS  \arked For Review
Chosen Option : --
O ) ¥ T & viey don eed sE
Prandtl number is least in case of
(A) =M gd/Viscous liquid
(B)UT-l/Water
(C) @aut fa@=/Salt solution
(D)=d Urd/Liquid metal
Ans X1 A
X 2.8
X 3cC

W 2D

Question ID : 349953877
Status : Answered
Chosen Option : 4
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Q.39
TF A UHH H, T UHTE W, [

In a distillation process, at total reflux, the.....................

(A) a9 [ 8/residue is nil
(B) 3d A w/distillate is nil
(C) UYaTE YA 8/reflux is nil
(D) &d &1 J&a1 € g1al 8/liquid stops to boil
Ans x 1A
W 28
X 3c
X 4D

Question ID : 349953869
Status : Answered
Chosen Option : 2

Q.40

feafet gl & oftee" & fo wes SRa daes gl

Most suitable conveyer for transportation of sticky substances is .......c.....

(A) U9 HaTgh/apron conveyer

(B) dec HalE® belt conveyer

(C) &b HaTgdh/screw conveyer

(D) arft HaTgs /pneumatic conveyer

Ans 1A
X 2B
W sc
p )

Question ID : 349953851
Status : Answered
Chosen Option: 3
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AN et um F 9 o e 21 Rae F ot § TR 99 U B SIYRY GO W 4 %EE

Ans

TR S Tl UTl 3fd 39 it 9 s dag I A e U s gene A Rea &
HRU fa b3 & ag faaga @l 8 s

There is a leak in the bottom of a vessel. Before the leak it could be filled with water
in 4 Y hours at room temperature. It now takes "2 hour longer. If the container is full,
in how many hours would the leakage empty the full container?

(A) 40h
(B) 36h
(€) 56h
(D) 45h

X 1A
X 2.8

X 3c
W 4D

Question ID : 349953834

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans

........................... TS A9 YT SoIH Sfaeul @t gl &l ST

................. number indicates the ratio of rates of heat and mass transfers in the
case of a Cooling tower.

(A)  ¥g8/Sherwood
(B)  ¥=/Stanton

(C) TqEH/Lewis
(D) Uaeie/Peclet

X 1A
X 2.8
W sc
X 4D

Question ID : 349953816
Status : Answered
Chosen Option : 3
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Ans

The dimension of diffusion coefficient is given by

(A) MLT?
(B)L2T!
LT
(D)MLZT

XA

W 28

X 3.c

X 4D

Question ID : 349953868
Status : Answered
Chosen Option : 1

Ans

...................... T TP 3 B AUF SR [ oIl g
Flash distillation is widely practised in .................

(A) 9rgq ﬁ'ﬁfﬂlqﬁﬁﬁnap manufacturing units
(B) Tiferaw afsswul/Petroleum refining
(C) ST §<Ew0 Haa/Ammonia synthesis plant
(D) Sga®IH0 Je/Polymerisation industry
XA
W 28
X 3.c
X 4D

Question ID : 349953814
Status : Answered
Chosen Option : 2
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______________________ Fran gar § 6 e ot 31 Sodls s P oo S agd aa &
|

o law states that total emissive power of a black body is proportional to
the fourth power of absolute temperature

(A) frrate Fam/Kirchoffs law
(B) B Seatd Ha8/StefenBoltsmann law
(C) @i Fam/Plancks law

(D) B Frm/Fouriers law
Ans 1A
W 28
X 3.cC
X 4D
Question ID : 349953862
Status : Answered
Chosen Option : 2
4
W4 SRS d ¥ forg aftreTe v 9 o 21

Baffles are provided in heat exchangers to -----—-

(A) mwmh{:mm the mechanical strength
(B) A@ @ AsTe/Remove the dirt
(C) &I B TURYH FTT T&/Keep the tubes in position
(D) SR &3 §g1/Increase heat transfer area
Ans x 1A
X 2.8
X 3c
W 40D

Question ID : 349953888
Status : Answered
Chosen Option : 3
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Q47 fdt wpa & e, wamAfEE qur e & e 3:4:6% U & €1 34 @S & A
10%, 20% 3R 50% Ta ¥ ag1 1 UKTd 81 9T 7Y Hiel 1 SJuTd 1 grm?
Seats of Physics, Chemistry and Mathematics in a school are in the ratio 3:4:6. There
is a proposal to increase these seats by 10%, 20% and 50% respectively. What will be
ratio of increased seats?

(A) 11:16:30

(B) 16:12:15

(C) 16:11:30

(D) 12:16:30
Ans  of 1 A

X 2.8

X 3c

X 4D

Question ID : 349953833
Status : Answered
Chosen Option : 1

Q48 SR $T e V&I & ST ZoddH IR0 HT AR I o pitesird

Corresponding to Nusselt number in heat transfer, the dimensionless group in mass
transferis the........................ number.

(A) Tate/Peclet

(B) Ig8/Sherwood

(C) f@e/Schmidt

(D) ¥=T/Stanton
Ans X' 1A

v 28

X 3.cC

y )

Question ID : 349953853
Status : Answered
Chosen Option : 2
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Q.49

Ans

g logy: X=42 @t X o 2
Solve X, if logi: X=4.
(A) 2
(B) 16
(C) 4
(D) 24
K 1A
X 2.8
Wac
X 4D

Question ID : 349953823
Status : Answered
Chosen Option: 3

Q.50

Ans

o4 ursy e famue! ®1 o alfigar & ekt § o

Double pipe heat exchangers are preferred when

(A) %d e T 9gfd BT 8/Liquid is more viscous in nature
(B) AP HHCI &7 %1 8/Heat transfer area required is low
(C) YUl SR Ui HH §/Overall heat transfer coefficient is low
(D) %9 W& 8/Liquid is corrosive

X 1A

v 28

X 3cC

F )

Question ID : 349953878
Status : Answered
Chosen Option : 2
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! R IR T A BT Fgl gl

(A) SEHT FE@ )/ Thermal conductivity
(B) 381 3f¥arg/Heat flux
(C) Fufi faerorfiaay/ Thermal diffusivity
(D) fafw Fe1/Specific heat
Ans X 1A
v 28
X 3.c
X 4D

Question ID : 349953883
Status : Answered
Chosen Option: 2

Q52 et wrgpardht Ul 3 4o B $ JudsRw & T S & Fe Jeean 82
Which force is responsible for the separation of dust particles from gases in a
Cyclone separator?

(A) UFEY/Centrifugal

(B) To@/Gravity

(C) aPr/Magnetic

(D) faggd/Electrical
Ans “ 1.A

5 2.8

X 3.c

X 4D

Question ID : 349953860
Status : Answered
Chosen Option: 1
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Q.53

Ans

Wheat flourismadeina..............

(A) ‘E'FR’ N /hammer crusher
(B) 39 Ae/impact mill

(C) e BIR/roller crusher
(D) &@ fard/tube mill

X 1A
X 2.8
W sc
X 4D

Question ID : 349953858
Status : Answered
Chosen Option : 3

O e v 3 S 3 RRIS B o 7157 S e 2

Ans

The constant of proportionality in Fourier™s law is known as

(A) Y ATeiebd]/Thermal conductivity
(B) ety faeroreferdn/ Thermal diffusivity
(C) N 99U/ Temperature gradient

(D) ST UMb /Heat transfer coefficient

v iA
X 2.8
X 3cC
F )

Question ID : 349953879
Status : Answered
Chosen Option: 1
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Which of the following is not the type of energy?

(A) TS/ Enthalpy

(B) Tl /Entropy
(C) drd/Heat
(D) ST/ Work
Ans X' 1A
W 28
X 3.cC
X 4D
Question ID : 349953871
Status : Answered
Chosen Option : 4
Q.56
_____________________________________ @ e v Fow cxfar e g
Fick’s law is given by the formula
(A)N p=—DpcdC v/d x
(B)N b=—2 D dC w/d x
(C)Nb=—3 DpedC n/d x
(D) N p=—4 Dy dC v/d x
Ans  of 1 A
X 2.8
X 3cC
y )

Question ID : 349953867
Status : Answered
Chosen Option: 1
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Minimum recommended tube pitch for heat exchanger is equal to

(A)STE F1 3EHOD of the tube

(B) @@ & ISt &1 1.25 T1/1.25 times OD of the tube
(C)TIE & IS &7 1.5 TAI/1.5 times OD of the tube
(D) & ISt &7 2 7172 times OD of the tube

“Mesh” in sieves indicates the number of holes per ..........
(A) TP §d/square inch
(B) I Tc/square foot
(C) Y@ $9/linear inch
(D) I@F Fe/linear foot
Ans X' 1.A
X 2B
W sc
X 4D

Ans X' 1A
v 28
K 3.c
p )
Question ID : 349953881
Status : Answered
Chosen Option : 2
Q.58
Tt vy # fo! &t g gfud s g

Question ID : 349953856
Status : Answered
Chosen Option: 3
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Ans

& X €| b wbR # Tg dd 87
Six X s have to be placed on the squares of the figure shown below, in such a way that
each row has at least one X . How many ways it is possible?

(A) 26
(B) 28
(©) 27
(D) 30

v A
5 2.8
X 3.cC
X 4D

Question ID : 349953844

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.60

Ans

fada &t 0.30 a1 o 3] € 600fd . faemas | gad e faaas &t diaaar......... gl

In a solution containing 0.30 kg mole of solute and 600 kg of solvent, the molality is

(A) 0.5
(B) 0.6
(C) 1.0
(D) 2.0

v 1A

X 2.8

X 3.cC

X 4D

Question ID : 349953870

Status : Answered

Chosen Option : 1
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Wien’s displacement law for black body radiation states that wave length for
maximum monochromatic radiating power 1§ -—--—-—---—--—- absolute temperature.

(A) T4 #Td/Fourth power of
(B) & g@/Square root of
(C) wirdmraRh/Inversely proportional to

(D) WI&TUTd/Directly proportional to

Ans X' 1A

X 2.8

W sc

X 4D

Question ID : 349953885
Status : Answered
Chosen Option : 3
Q.62
TS TSI S S Eakicead

A large Reynolds number is an indication of ...................

(A) FTH qUT YT @1 UaTg/smooth and streamline flow
(B) dceitd HdTg/laminar flow

(C) smfyadf Hdig/steady flow

(D) J= U&= WaTe/highly turbulent flow

Ans x1_/_\
X 2.8
X 3c
W 40D

Question ID : 349953845
Status : Answered
Chosen Option : 4
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(A) 39S Hifad dUHH F FU/above its critical temperature
(B) 39 wifde amad & al/below its critical temperature
(C) IHS Hifad qTAM T/at its critical temperature

(D) Tebl AUHM UR/at any temperature

Ans X' 1A
W 28
X 3c
X 4D

Question ID : 349953830

Status : Answered

Chosen Option : 1

Q.64 freft anfem & 1} MU WO F UR IR VR WA ot S A Y R ST B

Amount of water evaporated per unit weight of steam fed to an evaporator is known

(A) GEdl/Efficiency

(B) &HAdl/Capacity

(C) WHIO T¥/Feed rate

(D) USAMH/Economy
Ans x 1.A

X 2.8

X 3.cC

W 4D

Question ID : 349953890

Status : Answered

Chosen Option : 4
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Surface tension has units of .................

(A) 5a wfa Qﬁ? &3 /force per unit area
(B) &a uft gfe dam/force per unit length
(C) & ufa e FTel/force per unit time
(D) §a . gll/force . distance

Ans X' 1A
W 28
X 3cC
y )

Question ID : 349953847
Status : Answered
Chosen Option : 2

Q66 7 yril B THEY BET T 21 U WY = A 16 & dEn e 23 3 uiea e
4

Three dices are thrown together. What is the probability that the same number appears
simultaneously?

(A) 1/6
(B) 1/36
(C) 5136
(D) 51216
Ans x 1.A
W 28
X 3.cC
X 4D

Question ID : 349953843
Status : Answered
Chosen Option : 2
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A reaction is spontaneous at low temperatures and non-spontaneousat high
temperatures. Which of the following is true for such a reaction?

(A) AH >0, AS > 0
(B) AH >0, AS =0
(C) AH <0, AS=0
(D) AH <0, AS <0
Ans x 1.A
X 2.8
X 3.cC
W 4D

Question ID : 349953817

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.68 HIS awg I 10 Hiex ot § 3w 5T 5 diex aow ondft 81 7e wa 5 N & Fod @@ & wry
o wiren 81 99 7o gr1 fmn e feaen g2

An object moved forward 10 meters and then comes back 5 meter, all with a constant
force of 5 N, what is the work done by the force?

(A) 5 9c/Joules
(B) 25 T[@/Joules
(C) 50 S[ci/Joules
(D) 75 S@/Joules

Ans X1 A
W 28
X 3.c
X 4D

Question ID : 349953872
Status : Answered
Chosen Option : 2
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Steam traps are used to
(A)arY & 5d &I FAS@/Remove liquid from vapour
(B) Tufa @t fATe/Remove condensate
(C) a1a &1 Fafid $3/Regulate pressure
(D) fafiaa 1 &1 FA&Ta 1/ To vent out the excess steam

Ans X' 1A

v 28

X 3cC

X 4D

Question ID : 349953882
Status : Answered
Chosen Option: 4
Q.70
S TG .o ot Fuffea T g

(A) ™ et @1 walfds §&/maximum number of ideal plates
(B) 9@ Hiad B! Fals/height of the distillation column
(C) Fgifis wiel #1 gAaw W&I/minimum number of theoretical plates
(D) SPOH Ugdle AJ0Td/optimum reflux ratio
Ans X' 1A
X 2.8
W sc
y )

Question ID : 349953873
Status : Answered
Chosen Option: 3
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Which of the following will follow the Raoult’s law more closely?

(A) FH QR BT 35%AaT/35% solution of Camphor in Water

(B) ur H i &1 35%8a9/35% solution of Ammonia in Water

(C) i, E’H@‘-‘I qUI FSEH &1 U @ed=/a solution of Benzene, Toluene and Xylene

(D) AT, TS ot FaRIGTH &1 T fa@a / a solution of Methanol, Toluene and Chloroform

Ans X' 1A
X 2.8
W sc
X 4D
Question ID : 349953811
Status : Answered
Chosen Option: 3
72
Q72 et ¥ 7w ¥ wigr Hfor g A 2

The evaporator recommended for concentrating fruit juice is -------—-—-—-—--

(A) @Y Teit HeafeR af€E/Short tube vertical evaporator
(B) & 7reft SHeafeR afe=/Long tube vertical evaporator
(C) urdht fOhen arfem/Falling film evaporator

(D) wahfir fise afer/ Agitated film evaporator

Ans X1 A
X 2.8
W 3c
X 4D

Question ID : 349953884
Status : Answered
Chosen Option: 3
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The operation involved when the soluble material is largely on the surface of an
insoluble solid and is merely washed off by the solventis called ...................

(A) ®Y/decoction
(B) 3{d:"dUl/percolation
(C) & /elution
(D) $@¥9Ul/absorption
Ans X' 1A
/X 2.8
W sc
X 4D

Question ID : 349953874
Status : Answered
Chosen Option : 2

7 AHF/E 3 H10 3 7 AR UETITHT BT ST B o 21

A hot wire anemometer is used for measuring .............. of gases.
(A) TTd/pressure
(B) Tl viscosity
(C) Fyvelocity
(D) d¥H/temperature

Ans X' 1A
X 2.8
W sc
X 4D

Question ID : 349953861
Status : Answered
Chosen Option : 3
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Ans

ST g?

Which of the following laws is used for particle size reduction by crushing?

(A) fras FramyKirchofT's law
(B) STee Had/Dalton’s law
(C) Tdee FAgH/Raoult’s law
(D) afug Prm/Bond’s law
X 1A
X 2.8
X 3.cC
W 4D

Question ID : 349953842
Status : Answered
Chosen Option: 4

Ans

The molarity of pure waterat 25"Cis ................

(A) 100.1 M
(B) 502 M
(C) 554 M
(D) 18.0 M

XA
X 2.8
W 3c
X 4D

Question ID : 349953829

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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GEIHA R0 ufed 81 & R PufefEs 4 &9 wsnw wd 22

Which among the following is always true for mass transfer to occur?

(A) Higu H 3id¥/Difference in concentration

(B) gm@ ¥ 3faq¥/Difference in Pressure

(C) TrgH # 3fa¥/Difference in temperature

(D) e Gy § siqe/Difference in chemical potential

Ans 1A
X 2.8
X 3¢
W 4D

Question ID : 349953864
Status : Answered
Chosen Option : 1

U7 s ¥ STER R Urey A eor R, V2 SuTe B

The friction resistance in a pipe is proportional to V* according to..........

(A) TITEed €& /Reynolds number
(B) 138 ¥&=H1/Froude number
(C) §& WBI/Weber number

(D) 9§ - T3S/ Weber - Froude

Ans XTA
W 28
X 3.cC
X 4D

.....

Question ID : 349953841
Status : Answered
Chosen Option: 4
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As the time is passing, entropy of the universe ..........
(A) Sgdt o ¥E 8/is increasing

(B) f&R & 8/remains constant

(C) et o 381 8/is decreasing

(D) gafam & faan o Wahdl/cannot be predicted

Ans { 1A

5 2B

X 3c

X 4D

Question ID : 349953826
Status : Answered
Chosen Option : 1

Q80 1f o v R T AT A FFARS 2 O Pre T8 wfea &l

Ans

Cavitation will not occur if the sum total of pressure and veloeity heads at the suction
sideds i

(A) I/ Zero

(B) TR & a9 &1d ¥ 318 /larger than the vapour pressure of the fluid
(C) TR® & 919 g1& ¥ FH/smaller than the vapour pressure of the fluid
(D) TR & a5 S1d & §XI@</equal to the vapour pressure of the fluid

1A
W 28
X 3c
X 4D

Question ID : 349953859

Status : Answered

Chosen Option : 2
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